=
_ﬁ == l\l\ % ﬁ
(T fili) o ¥ &
R £ b PSS HAAL ) R =
[ A 5 T 5]
(K&l o 1)
MV S - SVAGER Btk m3 10 9.6
27y —hHIFLL (1) ¢ 39 X590 & T 20 20
27)—MAIFLT(2) ¢ 18X 56 1L 130 130
e L D29(SD345) kg 870 874
D16(SD345) kg 420 421
D13(SD345) kg 40 44
ST T - M12 X 50 i 130 130
LT —RET D16 & I 56 56
(VEAGRG IR E 1)
Fo T m2 11 10.6
) —EIFL T $ 32X 340 fL 144 144
Tuh—T. D22 X330 7 144 144
kA T D22(SD345) t 0.10 100
D16(SD345) t 0.45 446
/2 24-8-25BB m3 4 4.4
T m2 26 25.9
Varlsy V=N = R4
TR R E T. | (BE55° £5) B 8 8
Kbt 7)—b T | 18-8-25BB,t=15cm| m2 17 17.2
R T +ub m3 6 5.9
MET +#p m3 5 5.4
(% T.)
PRI T +ub m3 350 353.3
HWRET +ub m3 80 80.8




B 8 & B =
A ;ﬁ =
2 +#b m3 330 331.6
KAREDHT (1) | wlpp-ahm k| R 308 308
K +DHT.(2) 2 iE £ 79 79
IRBEAKE R B E L 0600, MEESITFAE[  m 20 20.0
YN m3 830 830.2
b F| T RC-40, t=10cm | m2 130 129.9
7 ALy T m3 900 901.1
Bt E S T t=22mm m2 37 37.2
BPRHBTE R |22X1,524X3,048| % 8 8
(RRFEIPEK T | ek 2 1 1
(= T)
27— NI T b3 m3 3 3.0
27—k JE{T) m3 3 3.1
1)) =kl sy Y m3 3 3.1
e T AT A IS M5y 2V 1 1
(i )
(F& g2z 1)
WrEEE T () | miiEes s i3 1 1
WrmEE T(2) [x)v—tavberan| f& 1 1
O OEIFUAIE T 3 1 1
BERR KB W T & Pt 4 4
PEKE S E T & Pt 4 4
RIT T BRI ZT kg 12 11.8




(T ) : : Wi % R "

& 4 b PSR 3 HANT ] IE {ifi
(FEPRT)

#EKT oy 1t & 144 144

SER7 my/¥RAT L 2.5tLLTF 53] 144 144

W oG A R B t=10mm m2 210 212.5

N v T H300 m2 9 9.2

iGN 2t 13 15 15.0




I T 3tk

ZA Bk XA n & 1
2y ))—ENETT Btk m3 9.6
a7 —hEALT (1) ¢ 39 X590 & 20
a7 —hEIFL T (2) ¢ 18X 56 fL 130
i T D29(SD345) kg 874
D16(SD345) kg 421
D13(SD345) kg 44
FSE T - M12 X 50 D 130
VT T D16 & Fir 56




% FR #FOHE K o=
/))& TL
B3t {( 1.400 2- 0900 3»x =« ~ 4
(2.80mx0.90m) | + 0.250 X 2.800 2 )bx 4.150 = 9.558 m3 9.6 m3
(24-8-25N)
&) Al ( 1.400 X 7 + 2800 X 2 )X  4.150
= 41.493 m2
THUALEE T ( 0900 X 7 +  2.800 X 2 )X  4.150
For T + 2.300 = 37.274 m2
2 )—MEIFL T (1)
$ 39 X590 = 20.0 fEPr 20 T
a7 —hEIFL I (2)
b 18 X 56 = 130.0 *L 130 fL
Toh—EE T
D29 X 580 = 200 &K
HABEAE
1/4 X T X (  0.039 2% 0.590 —
0.029 2% 0.580 )X 20 X 1200  kg/m3
X 1.09 = 8.416 kg
=TT
2.800 X 2 + 0.900 X b1 = 8.427 m
BT {C 420 + 140 )X 2 +  8.80 }
X 460 = 92.0 #m2
8T
D29 SD345 g ID = 874.0 kg 874 kg
D16 SD345 g ID = 421.0 kg 421 kg
D13 SD345 ERAFFR I = 44.0 kg 44 kg




% FR #F H K ¥ &
KT T v h—
M12 X 50 130.0 A& 130 A<
TV 15T WA D 16 mm
24T X 28 Bx 56.0  fEFT 56 EFT




4 B =X (A n = 1
For' LU T m2 10.6
a7 )—hETFL T ¢ 32X340 fL 144
T —1T D22 X 330 7 144
i T D22(SD345) kg 100
D16(SD345) kg 446
2/7)—h T 24-8-25BB m3 4.4
T m2 25.9

yan7 L ya’ MR Y
REAM R E T (RHJE55° +£5° ) % 8

K s)—b T | 18-8-25BB,t=15cm |  m2 17.2
P T +wp m3 5.9
HERET +w m3 5.4




% FR #F O H K o &
(A1) (P1) (A2)
For T
2.973 4614 + 2973 = 10.559 m2 10.6 m2
) —hEIFL T
b 32X 340 38 68 + 38 = 144 1L 144 7L
7vh—T.
D22 X 330 38 68 + 38 = 144 K 144 A&
ki T
D22 25.0 50.0 +  25.0 = 100.0 kg 100 kg
D16 117.0 212.0 + 117.0 = 446.0 kg 446 kg
ayy)—pT1
24-8-25BB 1.093 2.258 + 1.093 =  4.444 m3 4.4 m3
BT
6.674 12.576 + 6.674 = 25.924 m2 25.9 m2
FREMERE L
2 4 + 2 = 8 JE 8 X
Kygay))—pT.
18-8-25BB,t=15cm 1.900 5.200 -  0.300 X 4.200 )X 2
= 17.240 m2 17.2 m2
PEHEI T
+wb 1.900 1.880 )X 0.5 X 0.300 X  5.200
X 2 = 5.897 m3 5.9 m3
HET 1.900 1.880 )X 0.5 X 0.300 X 5.200
+wb 2 0.06 X 4200 X 2 = 5.393 m3 5.4 m3




% FR #F H K =
(FBBHR)
For' T
(0500 + 0.141 )X 4.200 = 2.692 m2
0.165 X 0.850 X 2 = 0.281 m2
S = 2973 m2
av)—MEIFL T
¢ 32X 340 2 AT X AfEPT 4+ 2 X 15T = 38 L
Tvh—T1T
D22 X 330 = 38 1L
MR IEA R = 0.200  ke/&
1/4 X T X(  0.032 2% 0.340 —
0.022 2% 0.330 )X 38 X 1200 kg/m3
X 1.16 = 7.802 kg
A5 T
D22 SD345 ERAFFR I = 25.0 kg
XT U — T EEH = 96.0 kg
D16 SD345 ERAFFR I = 117.0 kg
ayy)—pT.
24-8-25BB 0.300 X 0.600 X 4.200 = 0.756 m3
0.5 X 0.100 X 0.100 X 4.200 = 0.021 m3
0.465 X 0.400 X 0.850 X 2 = 0.316 m3
S = 1.093 m3
T (0400 + 0.600 )X 4.200 + 0.600
X 0.300 X 2 = 4560 m2
0.5 X 0.100 X 0.100 X 2 = 0.010 m2
( 0.465 + 0.850 )X 2 X 0.400
X 2 = 2104 m2
> = 6.674 m2
TEEMERE L a7 LI AN (BEAESS 57 FRAD) SCSTHIR VR - Fy k- Uyvy—f)
B700 X H200 X W50 = 2 H




% FR #F H K
(FEHHIER)
For s ( 0500 + 0.141 )X 3.400 X 2 = 4.359 m2
0.075 X 0.850 X 4 = 0.255 m2
> = 4614 m2
27)—-bEIFL LT
¢ 32X 340 44 X AfEPT O+ 4B X 13fpT = 68.0 fL
7uh—T.
D22 X 330 = 68 L
BHEEAR = 0.200 ke/&F
1/4 X b xX( 0.032 % 0.340 —
0.022 2% 0.330 )X 68 X 1200  kg/m3
X 1.16 = 14.009 kg
R T
D22 SD345 PRFpFERID = 50.0 kg
MTUh—TIZE R = 187.0 kg
D16 SD345 PREpFERID = 212.0 kg
ay -+ L
24-8-25BB 0.390 X 0.600 X 3.400 X 2 = 1591 m3
0.5 X 0.100 X 0.100 X 3.400
X 2 = 0.034 m3
0.465 X 0.400 X 0.850 X 4 = 0.632 m3
S = 2258 m3
T (0490 + 0.600 )X 3.400 X 2
+  0.600 X 0390 X 2 X 2 = 8.348 m2
0.5 X 0.100 X 0.100 X 4 = 0.020 m2
( 0.465 + 0.850 )X 2 X 0.400
X 2 X 2 = 4.208 m2
> = 12.576 m2
TEEMERE L a7 LI AN (BEAESS 57 FRAD) SCSTHIR VR - Fob - Uyvy—f)
B700 X H200 X W50 = 4 H

10

il




W

LT

4 W i BAL n = 1
A T +wp m3 353.3
HRET +w m3 80.8
BT b m3 331.6
FAE+OH T (1) | BUE-BRE-RE i 308
KA +DHT(2) B iR 79
(RPE AR B ERE T o600, miEr)afvi|  m 20.0
g A\t m3 830.2
YA T RC-40, t=10cm m2 129.9
ey T m3 901.1
BERRER B A T t=22mm m2 37.2
ek SR 22X1,524x3,048 | # 8
it TIHEZK T TEZERHEK = 1

11




4 W 3 -V B =
R HI T
T I RE R ELY 353.3 m3| 353.3 m3
HRET
+w 1 LB LY 80.8 m3 80.8 m3
BEET
T I RE R ELY 331.6 m3| 331.6 m3
KEILDHT (1) T A )
RUE-RRE - 27+ 10 3T K
AR TREM Y
3 X( 880 + 1.1 )X 2 48 ¥
2 X( 880 + 11 )X 2 32 ¥
1 X( 880 + 1.1 )X 2 16 48
3 X( 962 + 11 )X 2 53 4§
2 x( 962 = 1.1 )X 2 3/ &
1 X( 962 + 11 )X 2 18 4%
3 xX( 622 + 1.1 )X 2 34 ¥
2 X( 6.22 + 11 )X 2 PRI~
1 X( 622 += 1.1 )X 2 12 48
308 4% 308 4%
gk
1.1 X 1.1 X z/4 X 1.08 1.03  m/m
1.03 X 308 316.12 m3
KEIEDHT(2) TR TR LD
RE 1 X( 450 + 1.1 ) 5 £
2 X( 200 = 11 ) 4 &
1 X( 270 = 1.1 ) 3 £
1 X( 1820 + 1.1 ) 17
1 x( 850 + 1.1 ) 8 £
2 X( 2200 = 1.1 ) 40 A8
1 x( 150 + 1.1 ) 2 £
79 48 79 18

MARRRIE RS TL0174%, — AR TXLV624%35i0 M

12




% FR #F H K % &
KB B E RS T
6 600, R TFL 10.0 X 2 = 200 m 20.0 m
AL N R (R T &V
( 211 + 58 ) 1.8 + 4.9 +  204.2
+ 224 )= 09 = -338.99 m3
+T +095
338.99 X 1.33 + 316.12 X 1.20 = 830.20 m3| 830.2 m3
bR T
RC-40, t=10cm | ( 31.80 + 11.50 )X 3.00 = 129.90 m2| 129.9 m2
¥+ T 1 L REE E (e LT kv
( 7.8 + 49 + 2942 + 224 )= 0.9
- 21.1 o+ 5.8 ) = 338.99 m3
W1 R E (R T) LY
2722 —-( 203 + 15.0 )= 0.9
= 232.98 m3
BRI +03
1299 X 0.10 + 316.1 = 329.11 m3
> = 901.08 m3| 901.1 m3
EHT {C 140 + 420 )X 2 + 880 !}
X 460 = 92.0 #m2
SHAEMIR T CRF B2
R ERE L
t=22mm 1.524 X 3.048 X 8 = 37.16 m2 37.2 m2
AR &R
22%1,524 % 3,048 = 8 e 8 ¥
HEUIHEAK T
VEZERFPEK 1=

13




AN EEHEE

3B & PRk R HI T HRT EtT
BT mE O ¥ = | B m F ¥ = | B m F ¥ =
(IR E%E %) (m)

NO. 0 0.0 0.0 4.7
5.500 8.75 48.1

NO. 0 + 5.500 0.0 0.0 12.8
4.500 12. 80 57.6

NO. 0 + 10.000 0.0 0.0 12.8
9. 000 11.85 106. 7

NO. 0 + 19.000 0.0 0.0 10.9
7.700 1.40 10. 8 0. 60 4.6 8.35 64. 3

NO. 0 + 26.700 2.8 1.2 5.8
3.300 2.30 1.6 0. 80 2.6 4.20 13.9

NO. 0 + 30.000 1.8 0.4 2.6
1. 800 1.50 2.1 0.35 0.6 2.00 3.6

NO. 0 + 31.800 1.2 0.3 1.4
INEE 21.1 1.8 294. 2

14




AT EHEE

| PR B fEEIT HRET Bt T
H F ¥ H B m ¥y B B m ¥y B B
CANNRR 3R E %)
NO. 0 + 31.800 1.2 0.3 1.4
9. 700 0.60 5.8 0.45 4.4 1.90 18.4
NO. 0 + 41.500 0.0 0.6 2.4
1. 800 0.30 0.5 2.25 4.0
NO. 0 + 43.300 0.0 0.0 2.1
NEE 5.8 4.9 22.4

15



AT EHEE

3B & PRk fEEIT BRT EtT
BT mEm O ¥ = | B m F ¥ = | B m F ¥ =
(—RRE&ETL) (m)
NO. 0 - 16.700 0.0 0.0 0.0
6. 700 3.90 26. 1 0.10 0.7
NO. 0 - 10.000 1.8 0.2 0.0
1. 600 8.50 13.6 0.20 0.3
NO. 0 - 8.400 9.2 0.2 0.0
8. 400 9.25 11.17 0.65 5.5
NO. 0 9.3 1.1 0.0
10. 000 10. 20 102.0 1.10 11.0 1.00 10.0
NO. 0 + 10.000 1.1 1.1 2.0
5. 000 8.05 40.3 0.55 2.8 1.00 5.0
NO. 0 + 15.000 5.0 0.0 0.0
5. 000 2.50 12.5
NO. 0 + 20.000 0.0 0.0 0.0
INEE 272.2 20. 3 15.0

16




AN+ BEHEE

381 I BB #ERIT ERT
B OE T Ot % BB E TN % B B
(Z&ANRET)
NO. 0 - 7.100 2.5 0.6
7.100 2.25 16.0 0.30 2.1
NO. 0 2.0 0.0
7.100 2.35 16.7
NO. 0 + 7.100 2.7 0.0
0. 000
NO. 0 + 7.100 0.0 0.9
2.900 2.50 7.3
NO. 0 + 10.000 0.0 4.1
3. 600 3.80 13.7
NO. 0 + 13.600 0.0 3.5
1. 400 3.50 4.9
NO. 0 + 15.000 0.0 3.5
5.000 3.95 19.8
NO. 0 + 20.000 0.0 4.4
INGET 32.17 47.8

17




AT EHEE

| it EHEIT
Br m O F ¥y # E | W m F 5 E | W m F 5 =
(ZRIRERERT) (m)
NO. 0 + 10.000 0.0 0.0 0.0
3. 600 2.05 1.4
NO. 0 + 13.600 4.1 0.0 0.0
6. 900 2.05 14.1
NO. 0 + 20.500 0.0 0.0 0.0
INEET 21.5 0.0 0.0
&5 353.3 80.8 331.6

18




W

EL

4 8 7S AL =
27— U T R m3
2 )Y — bk S m3
V)Y — R AL B m3
BE7°T AT Ay J3E M - f %y 2V

19




4 W B\ R s B
av)Y)—MNiEE T wa
HE 1.900 X 5.200 X 0.150 X 2 2.964 m3 2.96 m3
V)Y — kiR wa
A7 (BIHIR) 1.900 X 5200 X 0.150 X 2 2.964 m3
ISR T.(¢ 39 X590)
1/4 X T X 0.039 2x 0.590 20
0.014 m3
T T.(¢ 18 X56)
/4 X T X 0.018 2x 0.056 130
0.002 m3
TERGEA 1k 2518 T.(¢ 32 X 340)
1/4 X T X 0.032 *x  0.340 144
0.039 m3
At (¢ 32 X 340)
/4 X T X 0.125 2x 0.233 0.009 )
X 4 0.047 m3
> 3.067 m3 3.07 m3
VYY) =R ALy
A (BIHI) 3.067 m3 3.07 m3
BET AT 4 ) M- L5y 15
T/ E(ZE) KTV & /m(B5)
2.0 X 308 + 140 X 20.0 896 kg

20




4 W 5T - =X {7A n = =
Wi E15 T (1) HINHEEN SV i 1 0.005m3
Wi E15 T (2) R =t A bV | B 1 0.582m3
O UE e T 1% 1 1.25m
BEERHE K ERE T & T 4
PR B ERE T & P 4
- ¢ kg 11.8

21




% CLC S =
W E1E T.(1)
HEUHEEN IV XITEEE L THIEERLY 1 1%

THILES &EPriiE @ m2) A (m3)
KD-A101 B 0.010 0.0007
KD-A102 X 0.024 0.0017
KD-P101 B 0.013 0.0007
KD-A201 XK 0.020 0.0015

z 0.067 0.0046
{E1E Wik R X ot

SRR T

FEERLIY =
TEYL

FHFHEE T ALY =
WrimE18 T

FHFHEE T LY =

e T E (REERED) =

e & (mA28+0.18)

0.069 m

0.067 m2

0.067 m2

0.067 m2
0.005 m3
0.005 m3

22




%

Wrmm 18 T (2)
FYv—t A/ MENVAL

XITEEE L THIEERLY

THILES &EriiE @ m2) A (m3)
KD-P102  #&M- 2 0.023 0.0007
KD-P103  1&H- 2 0.038 0.0011
KD-P104 = f&MH- 2 0.088 0.0026
KD-P105  #&H- 32 0.020 0.0006
KD-P106  f&MI- 42 2.228 0.1114
KD-P107  #&H- 2 2.868 0.2581
KD-P108 = #&MH- 0.023 0.0007
KD-P109  #&H- 2 0.030 0.0009
KD-P110  #&H -2 0.193 0.0058
KD-P111  #&H- 32 0.015 0.0005
KD-P112 1M 0.038 0.0011
KD-P113  1&H- 2 0.143 0.0043
KD-P114 = f&MH-2 0.090 0.0027
KD-P115  1&H- 2 1.688 0.0844
KD-P116 = #&H- % 0.903 0.0181

3 8.388 0.4930

1M PR St

0.059 m

SIS R IL, FEIZ IR (b+0.05)%(1+0.05) K m N 42,

SRR T

EREFRLY

T®YL

SR T ALY

WrmE{E1E T

SRR TR AR LY
fili T¥cE (RFERED)
MR E (nA540.18)

8.388 m2

8.388 m2

8.388 m2
0.493 m3
0.582 m3

23




%

il

O UEIME L

BERRHKERE L

BEAKE

Ha

XOUEINMEL THIEERIY

&L

THTES HEECE #ER: (m) & (mm) X (mm)
KH-A201 it B 1.250 4 50
2t 1.250 4 50
{Kf&:V 0.0003 m3
HEAF
M (1150kg/m3) 0.345 kg
S UkF
PR (5 — L iE50mm, [ 3mm, 1700kg /m3) 0.319 kg
DOEINEARA Y=/ 5 —
5 &
(1E&FT4Y)
Pk & Gl (SGP100A)
0.1143X 7 X0.676 X 12.2 2.961 kg
HES O (BINAEE /L Z/1)
7 /4%0.1053°2X0.234 0.002 m3
it
7 /4X0.114372 0.010 m2
(IEFT 4V HEKERE L)
Pipe (SGP100A)
1.040X12.2 12.688 kg
RB ¢ 13X 110(SR235)
0.110 X 2X1.04 0.229 kg
RB ¢ 9X 130(SR235)
0.130X 3 0.499 0.195 kg
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4 W i H K &
PL 100 X 6 X 564(SS400)
0.100<0.006 X 0.564 X 7850 = 2.656 kg
MI12FHE V=T ok Ty 4—(SS400)
= 4 #H
CA M12 X 100(SS400)
= 4 &
A BHIHDZ45 (R /VNEIZHDZ35)
s 777 ML E=1.13)
(0.12572-0.114372) X 7 /4 X 0.183 X 1.13 X 1000
= 0.416 kg
= (TR RV BE R)
(0.125°2-0.114372) X 7 /4 X 0.020 X 1.70 X 1000
= 0.068 kg
27 —MEIIFLT( 6 18 X 56)
= 4 fL
(&P 40 - Bt T)
T3 A —T.
0.525+0.325X 2 = 1.175 m
2 7Y=MNI-20 T
0.525%0.325X0.05 = 0.009 m3
27 —MEIIFL (¢ 125X 233)
= 4 fL
B T 77)
0.009+ 7 /4X0.125°2 X 0.233 = 0.012 m3
MM T CRF R
a7 —pT.(18-8-25BB)
(0.125%0.125+0.325 X 0.225) X 0.5 X 0.01 = 0.0004 m3
7 /4X0.1143°2X0.04 = 0.0004 m3
0.009 - 0.0004 - 0.0004 = 0.008 m3
T
BRI T T 2.961 X 4 = 11.846 kg| 11.85kg
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4 B =X (A n = =
A 1t7Y 1 144 Y7y 1 T
PR 7 my 4R T 2.5tLL 1] 144
W B 1L ER B T t=10mm m2 212.5
NI~ h T H300 m2 9.2
EEE 2t A = 15.0

26




% FR #F H KX o &
R T oy
1.0t £ LY 144 {@&
ERESE CevIn b 16))
LY = 172 A
FER 7 mys¥Ef T
2.5tL4F 144 &
W% HE S IEAT B & T 16.170 X 14.200 - 3.590 X 4.780
t=10mm = 212.454 m2| 212.5 m2
N <L
H300 1.000 X 4.600 X 2 = 9.200 9.2 m2
GESEN 1.9m/43
2t ( 14.200 + 14.200 )= 1.9 = 14.947 1§ 15 4%

|55 (50~200mm)

( 0.300 + 0.700 )X 0.5 X 14.200 X  0.460

= 3.266
0.500 X 0.460 X 0.5 X 14.200 X 0.5
= 0.817

Y = 4.08 m3
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